PREDICATE LOGIC
EXERCISE:  PROVING INVALIDITY VIA ENGLISH INTERPRETATION

Use the method of analogy or English interpretation to prove that each of the following arguments is INVALID (i.e. making the premise(s) true and the conclusion false).
Example 1:

(x)(Ax ( Bx)

(x)(Bx ( Cx)

(x)(Cx ( Ax)

Interpretation
ud = 



Ax – x 


Bx – x 



Cx – x 


Example 2:

(x)[(Ax V ~Ax) V Bx]
(x)(Bx ( Cx)

(x)(Ax ( Cx)

Interpretation
ud = 



Ax – x 


Bx – x 



Cx – x 


Example 3:

(x)(Ax ( Bx)
((x)(Fx & Bx)
((x)(Fx & Ax)

Interpretation
ud = 



Ax – x 


Bx – x 



Fx – x 

Example 4:

(x)[(Fx & Sx) ( Hx)]
(x)(Sx ( Hx)

(x)(Fx ( Hx)

Interpretation
ud = 



Ax – x 


Bx – x 



Cx – x 
Nx – x 


Example 5:

(x)(Px ( Dx)

((x)(Px & Bx)

((x)(Px & ~Bx)
((x)(Dx & ~Px)

Interpretation

ud = 



Bx – x 


Dx – x 




Px – x 






